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 BSWE-003  

BACHELOR IN SOCIAL WORK (BSW) 

Term-End Examination 

February, 2021 

BSWE-003 : SOCIAL WORK INTERVENTION WITH 

COMMUNITIES AND INSTITUTIONS 

Time : 3 hours                            Maximum Marks : 100 

Note :   Attempt all the five questions. All questions carry 

equal marks. Answer to questions no. 1 and 2 

should not exceed 500 words each. 

1. Outline the history of evolution of community 

organization. 20 

OR 

 Explain POSDCORBEF. 20 

 

2. Mention the steps involved in planning of a 

research project.  20 

OR 

 Discuss the approaches to gender-aware social 

work intervention. 20 
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3. Answer any two of the following questions in 

about 250 words each : 210=20 

(a) Enlist the models of community 

organization. 10 

(b) ‘Social welfare administration is a 

profession.’ Comment.  10 

(c) What is popular social action model ? 

Explain briefly. 10 

(d) Explain the role of the social worker in 

health care system. 10 

4. Answer any four of the following questions in 

about 150 words each : 45=20 

(a) What is the significance of community work 

in social work ? 5 

(b) Why is budgeting important for an 

organization ? 5 

(c) How is social action related to social  

change ? 5 

(d) Enlist the qualities of a good sample. 5 

(e) Discuss the different levels of health care 

system in India. 5 

(f) What are the conditions of marriage under 

The Hindu Marriage Act, 1955 ? 5 
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5. Write short notes on any five of the following in 

about 100 words each : 54=20 

(a) Relevance of community organisation for 

community development  4 

(b) Charitable organizations 4 

(c) Conflict resolution  4 

(d) Social action as a method of social work 4 

(e) Scientific research 4 

(f) Rights of patient 4 

(g) Gender oppression  4 

(h) Factors affecting girls’ education  4 
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 ~r.Eg.S>ãë¶y.B©.-003  

 g‘mO H$m¶© ‘| ñZmVH$ (~r.Eg.S>ãë¶y.) 

gÌm§V narjm 

\$adar,  2021 

~r.Eg.S>ãë¶y.B©.-003 : g_wXm`m| Ed§ g§ñWmAm| Ho$ gmW  
g_mO  H$m¶© A§V:jon 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  g^r nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g‘mZ 

h¢ & àíZ g§. 1 Am¡a 2 Ho$ CÎma 500 eãXm| (àË¶oH$) go A{YH$ 

Zht hmoZo Mm{hE & 

1. g_wXm` g§JR>Z Ho$ CX²{dH$mg Ho$ B{Vhmg H$s ê$naoIm V¡`ma 

H$s{OE & 20 

AWdm 

 POSDCORBEF H$s ì`m»`m H$s{OE & 20 

2. AZwg§YmZ n[a`moOZm Ho$ {Z`moOZ _| em{_b H$X_m| H$m 

CëboI H$s{OE &  20 

AWdm 

 O|S>a-OmJê$H$ g_mO H$m`© A§V:jon Ho$ Ñ{îQ>H$moUm| na MMm© 

H$s{OE & 20 
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3. {ZåZ{b{IV ‘| go {H$Ýht Xmo  àíZm| Ho$ CÎma bJ^J  

250 eãXm| (àË¶oH$) ‘| Xr{OE : 210=20 

(H$) g_wXm` g§JR>Z Ho$ _m°S>bm| H$s gyMr ~ZmBE & 10 

(I) ‘‘g_mO H$ë`mU àemgZ ì`dgm` h¡ &’’ {Q>ßnUr 
H$s{OE & 10 

(J) bmoH${à` gm_m{OH$ {H«$`m _m°S>b Š`m h¡ ? g§jon _| 
ì`m»`m H$s{OE &  10 

(K) ñdmñÏ` XoI^mb ì`dñWm _| gm_m{OH$ H$m`©H$Vm© H$s 
^y{_H$m H$s ì`m»`m H$s{OE & 10 

4. {ZåZ{b{IV ‘| go {H$Ýht Mma  àíZm| Ho$ CÎma bJ^J  

150 eãXm| (àË¶oH$) ‘| Xr{OE : 45=20 

(H$) g_mO H$m`© _| g_wXm` H$m`© H$m Š`m _hÎd h¡ ?  5 

(I) g§JR>Z Ho$ {bE ~OqQ>J _hÎdnyU© Š`m| h¡ ?  5 

(J) gm_m{OH$ {H«$`m gm_m{OH$ ~Xbmd go g§~§{YV H¡$go  
h¡ ?  5 

(K) EH$ AÀN>o Z_yZo Ho$ JwUm| H$s gyMr ~ZmBE & 5 

(L>) ^maV _| ñdmñÏ` XoI^mb ì`dñWm Ho$ {d{^Þ ñVam| na 
MMm© H$s{OE & 5 

(M) {hÝXÿ {ddmh A{Y{Z`_, 1955 Ho$ A§VJ©V {ddmh H$s 
eV] Š`m h¢ ?  5 
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5. {ZåZ{b{IV ‘| go {H$Ýht nm±M  na bJ^J 100 eãXm| 

(àË¶oH$) ‘| g§{jßV {Q>ßn{U`m± {b{IE : 54=20 

(H$) g_wXm` {dH$mg Ho$ {bE g_wXm` g§JR>Z H$s àmg§{JH$Vm 4 

(I) Y_m©W© g§JR>Z 4 

(J) g§Kf© g_mYmZ  4 

(K) g_mO H$m`© H$s {d{Y Ho$ ê$n _| gm_m{OH$ {H«$`m  4 

(L>) d¡km{ZH$ AZwg§YmZ 4 

(M) amoJr Ho$ A{YH$ma 4 

(N>) O|S>a CËnr‹S>Z 4 

(O) b‹S>{H$`m| H$s {ejm H$mo à^m{dV H$aZo dmbo H$maH$ 4 

 


